6F6
6F 6-G

6 F6-G
PENTHODE
(Eyp)
= 6,3 V.
= 0,7 A.
E. - PENTHODE

= 250 315(max) V.
= 250 315(max) V.
= —16,5 —22 V.
= 34 42 mA.
= 6,5 8,0 mA.
= 80.000  75.000 0
= 200 200
= 2,5 2,65
= 7.000 7.000
= 3 5
=5 400 400
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“ va(v)




6F6
6 F 6-G

Wo (5%)
Rk

Va(max)
Vg2 (max)
Vgl

Rk

la

Ig2

Ra(pl)
Ra(p.p)
Wo(5%)

L | O R

™M

O (A

6F6
6 F 6-G

E. - TRIODE
250 V.
—20 V.
3] mA.
2.600 9)

7
2,7 mA/V,
4.000 0
0,85 Wit.
650 )

- PENTHODE

FB SB

375 375 V.
250 250 V.
—26(min) V.
340 (min) Q
34 54 mA.
5 8 mA.
2.500 2.500 Q
10.000 10.000 Q
19 19 Wit.
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